

$$\frac{x}{q} + x + xq = 11, \quad \frac{x}{q} \times x \times xq = 4f \rightarrow x^3 = 4f \rightarrow x = f$$

$$f, \frac{f}{q} + f + fq = 11 \rightarrow \frac{f}{q} + fq = 11 \rightarrow q = f \text{ یا } q = \frac{1}{f} \rightarrow \text{مقدار } q \rightarrow \boxed{q = \frac{1}{f}}$$

1

$$x^2 + f, \quad 2x, \quad x^2 - 2 \rightsquigarrow ac = b^2 \rightarrow (x^2 + f)(x^2 - 2) = (2x)^2$$

$$\rightsquigarrow x^4 - 2x^2 + fx^2 - 2x^2 - 2 = 4x^2 \rightarrow x^4 - 2x^2 - 1 = 0 \rightarrow (x^2 - f)(x^2 + 2) = 0 \begin{cases} x^2 = f \rightarrow x = \pm \sqrt{f} \\ x^2 = -2 \end{cases}$$

$$\rightarrow x = \pm \sqrt{f} \rightsquigarrow a, f, 2 \rightarrow q = \frac{1}{f} \rightarrow S_n = \frac{a_1(1 - q^n)}{(1 - q)} \rightarrow S_r = \frac{1(1 - (\frac{1}{f})^r)}{1 - \frac{1}{f}}$$

$$\Rightarrow \frac{1(1 - (\frac{1}{f})^r)}{1 - \frac{1}{f}} = \frac{1 \times r}{n}$$

2

$$S = a + aq + aq^2 + aq^3 + aq^4 \rightarrow a(1 + q + q^2 + q^3 + q^4) \Rightarrow 1 + 3 \times 3 \times \frac{121}{n} = \frac{343}{n}$$

3

$$d = \frac{a_n - a_1}{n - 1} = \frac{4f - 1}{4} = 6 \text{ یا } 2 \rightarrow A = a_f = a_1 + (n-1)d = 1 + 3 \times 6 \text{ یا } 2 = 19 \text{ یا } 13$$

$$aq^4 = 4f \rightarrow q^4 = 4f \rightarrow q = \pm \sqrt[4]{4f} \rightarrow B = a_f = a_1 \times q^{f-1} \begin{cases} 1 \times (\pm \sqrt[4]{4f})^3 = -1 \\ 1 \times (\pm \sqrt[4]{4f})^3 = 1 \end{cases}$$

$$A + B = \begin{cases} 19 + 1 = 20 \\ 13 + 1 = 14 \end{cases}$$

4

$$d = \frac{-9d}{f} + 2f = \frac{1}{f} \rightarrow a_{101} = a_1 + (n-1)d = -2f + 100(\frac{1}{f}) \Rightarrow a_{101} = 1$$

$$b_n = a_1 q^{n-1} \rightarrow 1 = 1 \times n \times q^v \rightarrow q^v = \frac{1}{1 \times n} \rightarrow \boxed{q = \frac{1}{f}}$$

5

$$a_r, a_v, a_q \rightarrow a_1 + rd, a_1 + vd, a_1 + nd \rightarrow aC = b^r$$

$$\Rightarrow (a_1 + rd)(a_1 + vd) = (a_1 + nd)^r \Rightarrow a_1^r + ra_1d + rd^r = a_1^r + rvd^r + rva_1d$$

$$\Rightarrow -ra_1d + rvd^r = 0 \rightarrow rd(a_1 + vd) = 0 \rightarrow a_1 = -vd \rightarrow d = \frac{-a}{r}$$

6

$$a_r, a_f, a_n \rightarrow a_1 + d, a_1 + rd, a_1 + vd \rightarrow aC = b^r$$

$$\Rightarrow (a_1 + d)(a_1 + vd) = (a_1 + rd)^r \Rightarrow a_1^r + ra_1d + rd^r = a_1^r + rd^r + 4a_1d$$

$$\Rightarrow ra_1d - rd^r = 0 \rightarrow rd(a_1 - d) = 0 \Rightarrow \begin{cases} a_1 = d \\ d = 0 \end{cases} \rightarrow a_r, a_f, a_n \rightarrow rd, rd, nd$$

$$e \rightarrow \frac{rd}{rd} = r$$

$$a_{10} = a_1 q^9 \Rightarrow \frac{1}{r} \times r^9 = \frac{a_1 r^9}{r} = \frac{a_1 r^8}{1}$$

7

$$ra_r, ra_v, a_f \rightarrow r(a_1 q), r(a_1 q^r), a_1 q^r \rightarrow aC = r b$$

$$\Rightarrow ra_1 q + a_1 q^r = r(ra_1 q^r) \Rightarrow a_1(rq + q^r) = ra_1 q^r \Rightarrow rq + q^r = r q^r$$

$$\Rightarrow q^r - rq + r = 0 \xrightarrow{\text{Cubic}} q = \frac{r \pm \sqrt{4r - r^2}}{r} \Rightarrow \frac{r \pm \sqrt{r}}{r} \Rightarrow \begin{cases} \oplus \rightarrow q = r \\ \ominus \rightarrow q = 1 \end{cases} \xrightarrow{\text{ننتیج}} \underline{q = r}$$

8

$$r, \frac{r}{r}, \dots \rightarrow \frac{r}{r} - r = -\frac{1}{r} = d \rightarrow a_n = r - (n-1)\frac{1}{r} \Rightarrow a_r = \frac{a}{r}, a_n = \frac{1}{r}, a_{10} = -1$$

$$\frac{a}{r} + x, \frac{1}{r} + x, -1 + x \Rightarrow b^r = aC \Rightarrow (-1+x)\left(\frac{a}{r} + x\right) = \left(\frac{1}{r} + x\right)^r$$

$$\Rightarrow -\frac{a}{r} - x + \frac{ax}{r} + x^2 = \frac{1}{r} + x^r + \frac{1}{r}x \Rightarrow \frac{x}{r} = \frac{r-1}{r} \Rightarrow x = \frac{r-1}{r}$$

$$\Rightarrow -r, -1, -\frac{r-1}{r} \Rightarrow \underline{q = \frac{a}{r}}$$

9

$$a_1 + a_f + a_v = r^r, a_1 = b_1, a_f = b_r, a_v = b_{10}$$

$$a_f - a_1 = b_r - b_1 = d, a_r - a_1 = b_{10} - b_1 = rd \Rightarrow \frac{a(q^r - 1)}{a(q^r - 1)} = \frac{d}{rd} \Rightarrow q^r + 1 = r \Rightarrow q = r$$

$$a + aq^r + aq^r = a + ra + r^2 a = r^r a = r^r \Rightarrow a = 1 \Rightarrow a_f - a_1 = d \Rightarrow (1 \times r^r) - 1 = r \Rightarrow \underline{d = r}$$

$$a_1 + a_1 q^r + a_1 q^r = r^r \Rightarrow ra_1 q^r = r^r \Rightarrow q = r \Rightarrow ra = r^r \Rightarrow a = \frac{r^r}{r}$$

$$aq^r - a = d \Rightarrow \frac{r^r}{r} - \frac{r^r}{r} = 0 \rightarrow \underline{d = 0}$$

10